


Question 1

The diagram shows a pyramid with a square base ABCD.
All the sloping edges of the pyramid are 20 cm long and AC = 17 cm.

Calculate the height of the pyramid.

h= {70 - 8.5’
- '80|m

Question 2

6m

B

18m
The diagram shows a rectangular playground 4BCD on horizontal ground.

A vertical flagpole CF, 6 metres high, stands in corner C.
AB=18mand BC = 15m.

Calculate the angle of elevation of F from A.

xX= Jls"-t-lsz 4 23“““’
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The diagram shows a pyramid on a square base ABCD with diagonals, AC and BD, of length 8cm.
AC and BD meet at M and the vertex, P, of the pyramid is vertically above M.
The sloping edges of the pyramid are of length 6cm.

Calculate

(a) the perpendicular height, PM, of the pyramid, (3]
Pm= [36-16 =4.4Pcm

(b) the angle between a sloping edge and the base of the pyramid. [3]

cos0 =4
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The diagram shows a pyramid on a square base ABCD.
The diagonals of the base, AC and BD, intersect at M.
The sides of the square are 8 cm and the vertical height of the pyramid, PM, is Scm.

Calculate
2 cm
(a) the length of the edge PB, 39 - J-;z—"”s‘ = I' ¢ 3 [3]
md = Hgs3cm

PB = {55, g.659" = F55 M

(b) the angle between PB and the base ABCD. 3]

tone = 5 [6-41.5 The Maths Society
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The diagram represents a pyramid with a square base of side 10 cm.

The diagonals AC and BD meet at M. P is vertically above M and PB = 8cm.

(a) Calculate the length of BD.

D= ld.Icm

(b) Calculate MP, the height of the pyramid.

2 2
Pm'= 8- 3.0%

M = 3.34ycon
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The diagram shows a prism of length 4 cm.

The cross section is a right-angled triangle.
BC=3cmand CQ=2cm.

Calculate the angle between the line 40 and the base, ABCD, of the prism.

ﬂ'c: qn-l'ﬁa =%

$on 6 = 9/5 [4]
©= 1|-8‘
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The diagram shows a cuboid ABCDEFGH.
AE=5cm, EH= 4cm and AG = 13cm.
Calculate the angle between the line AG and the base EFGH of the cuboid. [3]
sin ©z 5
13
0
©:-21.6
Question 3
The diagram shows a cube ABCDEFGH of side length 26 cm.
H G
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Calculate the angle between 4G and the base of the cube. c [4]
2 2 i &= -
ac= Jac*+a¢ ys- |

= 3¢.8cm O=30

AqQ = \l?c.s’%lcz = Y5\ om
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T'he diagram shows a cube of side length 8cm.

(a) Calculate the length of the diagonal BS.

2p = Jouaed S NGY+128 = 13.Q e [3]
82

(b) Calculate angle SBD.

ton© = _8 \e=2‘l.‘\ 2]

a—

1.9
Question 5
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The diagram shows a cuboid.
HD=3cm, EH=5cm and EF = 7cm.

Calculate

(a) the length CE,
ac=Ja+ua = +.eacm [4]

2
CE= Yﬁ"

= quom

(b) the angle between CE and the base CDHG.

tano= &
7.62
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Question 1

ABCDEFGH is a cuboid.

AB=4cm, BC=3cmand AG=12cm.

Calculate the angle that 4G makes with the base ABCD.

AC = Jisxa = 5 cm

Question 2

D

C0sO = —

2
O = 656.4

3cm

12cm B

The diagram shows a triangular prism of length 12 cm.
Triangle ABC is a cross section of the prism.
Angle BAC=90°, AC=6cm and AB = 5cm.

Scm

Calculate the angle between the line CE and the base ABED.

6cm

RE = .]\uq-\-a's = Jieq = 1dem
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The diagram shows a triangular prism.
ABCD is a horizontal rectangle with DA = 10cm and AB = 5cm.
BCQP is a vertical rectangle and BP = 6cm.

Calculate

a) the length of DP,
o 96 = 100425 = fns =n.20m .

MW = m = 12.FCm

(b) the angle between DP and the horizontal rectangle ABCD.

[3]
4an 0= _&
n-a
o
©=-28.2
Question 4
ABCD, BEFC and AEFD are all rectangles.
ABCD is horizontal, BEFC is vertical and AEFD represents a hillside.
AF is a path on the hillside.
AD =800m, DC = 600m and CF = 200m.
(a) Calculate the angle that the path AF makes with ABCD. [5]
[ 2
AC = {800+ 600
= L0000 M

~)
4+on 0 > &O_ 0= +an ( }é)
1000 .3

(b) In the diagram D is due south of C.

Jasmine walks down the path from F to 4 in bad weather. She cannot see the path ahead.
The compass bearing she must use is the bearing of 4 from C.

Calculate this bearing. mn'“’ s 1‘0.'.’ §3.1=233. ) [3]
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